
Quiz Section Test 5-AA
Answers are given in red.



1.  Name the structure 
shown by the arrow.

papilla



2.  Name the muscle shown by the arrow.

detrusor



3.  What is indicated by the arrow?
a. proximal tubule
b. podocyte
c. collecting duct
d. distal tubule
e. uroepithelium



4.  What part of the nephron is 
indicated by the arrow?
a. collecting duct
b. distal tubule
c. Bowman’s capsule
d. proximal tubule
e. glomerulus



5.  Which of the following best explains why diabetes mellitus 
might cause glucose to appear in the urine?
a. Diabetes causes a leaky filtration membrane.
b. Hyperglycemia causes a high filtered load of glucose that 

exceeds the capacity for glucose reabsorption.
c. Hyperglycemia causes a high filtered load of glucose that 

disrupts the gradient necessary for glucose reabsorption. 
d. Hyperglycemia inhibits glucose reabsorption.
e. Hyperglycemia stimulates glucose secretion.



6.  Vasopressin is a hormone that is secreted by neurosecretory 
cells at the posterior pituitary.  In what part of the brain are the 
cell bodies of vasopressin-secreting cells located?

hypothalamus



7.  In a patient with chronic kidney disease, which of the following increases?
a. plasma inulin concentration
b. glomerular filtration rate
c. creatinine clearance
d. inulin clearance
e. plasma creatinine concentration



Calculations
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